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! ! ] l \ Answer Sheet No. o
Sig. of Invigilator.
BIOLOGY SSC-l
SECTION — A (Marks 12)
Time allowed: 20 Minutes Revised Syllabus

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct optioni.e. A/ B/ C/D. Each part carries one mark.
(B Who wrote the book “Al-Haywan'?

A Al-Jahiz B. Bu Ali Sina
C. Abdul Malik Asmai D. Jabir bin Hayan
(it) The hypotheses that stand the test of time are called
A Laws B. Theories C. Deductions D. Experiments
(i) The Eukaryotic multicellular heterotrophic organism having chitin celi wall, are placed in kingdom ____
A Fungi B. Protista C. Monera D. Plantae
(iv) Ground tissues are made up of
A Collenchyma cells B. Stone cells
C. Parenchyma cells D. Sclerenchyma cells
(v) Which is the main component of prokaryotic cell wall?
A Cellulose B. Peptidoglycon C. Chitin D. Glycopepsin
(vi) The process by which small molecules are forced to move across semi-permeable membrane with

the aid of water or blood pressure is called

A Active Transport B. Osmosis

C. Filtration D. Facilitated Diffusion
(vii) In which phase of cell cycle do the chromosomes duplicate?

A G1 B. G2 C. GO D. S
{viii)  If organic co-factors are tightly bound to enzyme, they are called

A Co-enzymes B. inhibitors C. Organic groups D. Prosthetic groups
{ix) fn the process of Glycolysis Glucose is broken into

A CO, +4TP B. CO,+ H,O+ ATP

C. Pyruvic Acid + ATP + NADH D. None of these
(x) Which vitamin causes loss of appetite and liver problems when taken in access?

A Vitamin C B. Vitamin D C. Vitmian A D. Vitamin B
{xi) Which of the following is NOT involved in Transpirational pull?

A Xylum with small diameter B. Adhesion

C. Phloem vessels D. Cohesion

(xii) Which nutrient plays an important role in opening and closing of stomata in Plants?

A Calcium B. Potassium C. Sulphur D. Zinc

For Examiner’s use only:

Total Marks:
Marks Obtained: _|
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BIOLOGY SSC-l
Revised Syllabus
Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 33)

Q.2  Attempt any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. {11 x 3= 33)

(i)

Note:

Q.3 a

Define the following:

a. Biotechnology b. Eptomalan: c. Anatomy
Write down any three observations of A.F.A King about Malaria.

How do forests support biodiversity?

Write briefly abcut “Cell as an open system”.

Define Osmosis. Also differentiate between Hypertonic and Hypotonic solutions.
Give structure and function of Xylem tissues.

Compare and contrast Mitosis and Meosis.

Write down the use of Ezymes in Food industry and Biological detergents.

In what ways do the enzymes lower activation energy of chemical reactions?
Write a note on Krebs cycle. Also draw its reaction equation.

Name the parts labelled A, B, C, D, E, and F in the following diagram, on your answer sheet.

ﬁ/ l'_{2(3 chiorcgtus. - ":,L
<[l :\ f “

Reacticns Reactions
{en thylakoids) {in stroma}

What is the role of the following minerals in human body:
a. Sodium b. Zinc c. lodine
What is the difference between Bolus and Chyme? Also define Peristalsis.
Transpiration is called a necessary evil. Comment.
Differentiate between Thrombus and Embolus.

SECTION - C (Marks 20)

Attempt any TWO questions. All questions carry equal marks. ' (2x10=20)

Define Hypothesis. Write the characteristics of a good hypothesis. Also propose a

hypothesis about Malaria. (1+3+1)
Differentiate between the terms Extinct and Endangered. , {03)
Give the names and symbols of the Bioelements which make 99% of the total mass of

an organism. (02)
List the limiting factors in Photosynthesis. Explain any Two. (1+4)
Describe the significance of Meiosis. (05)
Explain the role Water and Dietary Fibres in life. (04)
Draw the structure of human heart and label its parts. Also show the flow of blood in Heart. (06)

—— 18A 1310 (L) -
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Roll No. Lol J_’ ____J___j Answer Sheet No.
Sig. of Candidate. Sig. of Invigilator.

BIOLOGY SSC-I
SECTION - A (Marks 12)

Time allowed: 20 Minutes Revised Syllabus

NOTE:- Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct optioni.e. A/ B/ C/D. Each part carries one mark.

U]

(i)

(iii)

(iv)

(vii)

(viii)

(ix)

(xi)

(xii)

Out of the 92 naturally occurring elements, are called bio-elements.

A 15 B. 16 C. 20 D. 17

Biological method has played an important part in scientific research for almost years.
A 450 B. 500 C 590 D. 630

In 1937 AD., E-Chatton suggested the term of to describe bacteria cell.

A Eucariotique  B. Procariotique  C. Bacteriophase D. E-Coli

The scientific name of house Crow is

A Homo saptens B. Allium cepa

C. Corvus splendens D. Rana tegrana

The inner membrane of mitochondria forms many infoldings called .

A Stroma B. Cristae C. Granum D. Thytakoid
In meiosis, the homologous chromosomes line up with each other and form pairs by

a process called

A Chiasmata B. Synapsis c Crossing over D. Recombination
In which stage of cell cycle, the cell is preparing enzymes for chromosome duplication?

A G1 Phase B. S Phase C. M Phase D. G2 Phase
Which of the following is TRUE about Cofactors?

A. Break hydrogen bonds in the proteins B, Heip facilitate enzyme activity

C. Increase activation energy D. Are composed of proteins
Chlorophyll pigment absorbs maximum light in wavelengths of

A Green and blue B. Green and red

C. Green only D. None of these

From which bonds of ATP molecule energy is taken?

A P-P bonds B. C-H bonds C. C-O bonds D. C-N bonds
Cardiac sphincter is found between

A Stomach and Small intestine B. Stomach and Oesophagus

C. Small and Large intestine D. Stomach and Large intestine
Which of the following is NOT TRUE for the reason of creation of transpirational pull?

A Water is held in the xylem tube that has small diameter

B Water molecules adhere to the walls of xylem tube

C. At source (leaf) food is moved by active transport into sieve tube of phloem
D Water molecules cohere to each other

For Examiner’'s use only:
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BIOLOGY SSC-I
Revised Syllabus

P
/

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE:- Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use suppiementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 33)

Q.2 Attempt any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11 x 3 =33)
)] Show the relationship of Biology with other branches of science with the help of diagram.
i) What is Data? How can you analyze data?

=

{

(
(iii What are the aims of Classification?

(iv} What are the causes and of bad effects of Deforestation?

{v) Write down the names of parts labelled A, B and C in the following diagram of the Chloroplast,
on your answer book:

(vi) Write a short note on Epithelial tissues of animals.
(vity a. Write a short note on the S phase of interphase.
b. How is cytokinesis important in cell division?
(viii) Write down the uses of Enzymes.
(ix) What role is played by chlorophyll and light during photosynthesis?
(x) Compare Respiration with Photosynthesis.
{xi) Give a comparison of Alcoholic and L actic-acid fermentation.
{xii) What are the effects of Malnutrition?
(xitiy  Write briefly about the opening and closing of stomata.
(xiv) Give a comparison of Arteries, Capillaries and Veins in Tabular form.
(xv) What do you know about Atherosclerosis and Arteriosclerosis?

SECTION — C (Marks 20)

Note: Attempt any TWO questions. All questions carry equal marks. (2 x 10 = 20}
Q3 a What do you know abut the followings:

(i) Facilitated diffusion (i) Water balance problems (2+3)

(iii) Compound tissues of plants (03)

b. Write about the process of Metaphase of Mitosis. (02)

Q.4 a Define Respiration. Describe the mechanism of respiration (1+6)

b. Describe the Venous system of human beings. (03)

Q5 a Describe the structure and functions of human heart. (07)

Explain the Rh blood group system. (03)

—— 18A 1310 (ON) -—
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Sig. of Invigilator.

BIOLOGY SSC-I

SECTION -~ A (Marks 12)
Time allowed: 20 Minutes Old Syllabus

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct optioni.e. A/ B/ C/D. Each part carries one mark.

(i) Who was the first person to discover Antiseptics?

A Louis Pasteur B. Joseph Lister C. Robert Koch  D. Bu Ali Sina
{in Which of the following veins carries oxygenated blood?

A Pulmonary vein B. Abdominal vein

C. Hepatic Portal vein D. Renal vein
(il Basic unit of classification is

A. Kingdom B. Species C. Order D. Class
(iv) Which of the following diagrams shows metaphase-! of Meiotic division in animal cell?

A LR B. (7 , R C. T, D .3

{7 : TR

(v) Which of the following is an example of Saprophytic plant?

A Cuscuta B. Venus flytrap  C. Monotropa D. Bladder wort
(vi) ‘Scurvy' is caused due to the deficiency of in human beings.

A Vitamin B B. Vitamin A C. Vitamin D D. Vitamin C
(vii) Animals of which phylum have soft body?

A. Annelida B. Mollusca C. Echinodermata D. Arthropoda
(viii)  Which of the following is NOT the characteristic of Monocots?

A B. C. D.
(ix) Which pigment gives blue colour to Cyanobacteria?

A Chlorophyll B. Xanthophyll C. Phycocyanin  D. Eosin
(x) Which of the following is an example of fresh water motile unicellular algae?

A Volvox B. Spirogyra C. Sargassum D. Chlamydomonas
(xi) ‘Dolphins’ belong to which class of phylum Chordate? '

A Mammalia B. Reptilia C. Pisces B. Aves
(xii) The condition when young leaves of fern are rolled is called

A. Rachis B. Circination C. Fronds D. Pinnae

For Examiner’s use only:

Marks Obtained:

Total Marks: E
[ ]

—— 1SA 1310 {Old) —

Biology Annual 2013 10




Visit TopStudyWorld.Com to Get Great Marks in SSC, HSSC and Entry Tests

Roll No.

Answer Sheet No.

o8

Sig. of Candidate:

Old Syliabus

Sig. of Invigilator

90
507
P
s,

L EUATE 4
N

<20

-

sy}

e U Je e e e § ul,»f;«b/_i..%ug._liﬁ),/(shf_/v{ﬁ et &S SL S e asye gl S Sl

.L)’

.
i} wgJ:

1089

10
[V

Biology Annual 2013

LG o S rene Ut 1Bl 1 (P 50

. o Lo .
?‘JQJL&LL{_J“E..’_. ST oy
Y » T

A

Yo 3’\?,:’_ \_,‘,v; &3 | < su’g’s’:’_ I Vt Souas

o .J’:_:’ __L,E;f: & v__ ,VP:IJ“',J — C/_: ,d‘} ,.AS; o
fe ey ilad ﬁ-‘Wwb

AT PR A S

S S, (e BT s 5 LI by
(-‘_;,‘/‘,CUL‘K ]—,r’.f.Lfg_é\;‘,:ﬁ.'_U ’guf\_ﬁ",u»i'\g f Qu,"ra_u:\_,‘t,'

LA \; i “.' .“:‘ —‘_'a'”

e o e 1o
e JE LT sy ey u¢‘[‘;u:uf:g/k'

N . 3. e .
_E‘/‘;‘.V‘ & %,’JLU\,“"A' . L’g[’ o
ok ‘ O . 7

e Frflad S gy
i ) e — Sets A
R L [ C

R U ] o
b, 508 & e —— 1 A o

(._, uﬁ{ Jung";« Erreo O—UL'— u.'.'ut 3

s T ’
e Goksiedl 26 r ey
gr:!.L”L.' Y & uc S5 -— VL'_U},b ol
. : ) . S i .
Sl IR '—\J&‘Qlrij/uQ’!Lvr:vt).:‘/A;'
(b 2L — e
N T . P
‘:.;;.;JLBL”J [ /I‘-L‘ ufbd“s.-
Uz‘:‘ I

——

fo by ivlnduns lws

e - (Wi R (W] -J”

{i)

v)

(vi)

(vii)

(viii)

(ix)

(x)

(xi)

(xin)

: J{Z_’I.

1Ay

11




Visit TopStudyWorld.Com to Get Great Marks in SSC, HSSC and Entry Tests

BIOLOGY SSC-I
Old Syllabus

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the
separately provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write
your answers neatly and legibly.

SECTION — B (Marks 33)

Q.2 Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11x3=33)

(i
(ii)
(iii)
(iv)
(
(
(

Write doewn the functions of Liver.

How is digested food absorbed in ileum in human beings?
Differentiate between Winter sleep and Hibernation.
Briefly describe Sea Urchin and Hydra.

V) Write briefly about Long Shoots and Dwarf Shoots of Pinus.
vi) Why are Green aigae considered to be the ancestors of plants?
vii) The following diagram is that of a unicellular blue green algae. Name the parts labelled A, Band C
onh your answer book:
(viii) Write down any three objectives of Classification.
(ix} a. What is the function of teeth in frog?
b. How is the tongue of a frog different from that of the other animals?
(x) a. Who presented the Cell theory?
b. Write any two salient features of the cell theory.
(xi) Define the following:
a. Ecology b. Cell Biology c. Genetics
(i) Write a brief note on ‘Coral Reef.
(xiiy  a. Give one example of Mutualists fungi.
b. What is Bacteriophage?
(xiv) Briefly explain the structure and function of Alveoli.
(xv) What is Darwin's Theory of Common Descent?
SECTION — C (Marks 20)
Note: Attempt any TWO questions. All questions carry equal marks. (2x10=20)
Q.3 a How do intercostais muscles and diaphragm work during Inspiration and Expiration? Expiain. 07
b. Differentiate between Hepatic Veins and Hepatic Portal Vein. 03
Q.4  Describe the structure of a Tooth. 10
Q.5 a Describe Oparin and Haldane hypothesis about the origin of fife on earth. 06
b. Explain briefly ‘Alternation of generation in Bryophytes’. 04
—— 18A 1310 (Old) —
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PR
Roll No, , { [ [ I [ _1 Answer Sheet No.
Sig. of Candidate. Sig. of Invigilator.
CHEMISTRY SSC-I
SECTION — A (Marks 12)
Time allowed: 20 Minutes Revised Syllabus

NOTE:- Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circie the correct option i.e, A/ B/ C / D. Each part carries one mark.

0] If one mole of carbon contains x atoms, then what is the number of atoms contained in 12 grams of Mg?
A X B. 0.5 x . C. 2x D. 1.5 x
(i) What is the mass of 4 moles of Hydrogen gas?
A 8.064 gram B. 4.032 gram C. 1 gram D. 1.008 gram
(iiiy Which Isotope is used in nuclear reactors?
A U-234 B. u-238 C. U-235 D. All of these
(iv) Value of Plank's constant is -
A 6.626x10*° J.s B. 6.626x10%J.s
C. 6.626x107* J.s D. 6.626x107°% Js
(v) How many elements were known by the end of the 18" century?
A 23 B. 65 103 88 D. 109
{vi) Period number of Phosphorus in Periodic table is
A 2" B. 3" C. 4" D. 5"
{vii) Which of following atoms obeys Duplet rule?
A, o, B. F, cC. H, D N,
(viii) Which of the following is a Covalent compound?
A. NaCl B. MgO - C. H,0 D. KF
(ix) At the Mount Everest what is the boiling point of water?
A. 70°C B. 80°C C. 90°C D. 100°C
(x) What is the maximum amount of Sodium Acetate that can dissolve in 100 gram of water at 0°C?
A 170 gram B. 119 gram C. 220 gram D. 320 gram
(xi)  Oxidation state of Crin K,Cr,O, is
A 12 B. 6 0% 3 D. Zero
{xii) Which of the following elements is most metallic?
A Al B. Na C. Mg D: Li
For Examiner’s use only:
Total Marks: E
Marks Obtained: ]
—— 18SA 1308 (L) —
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CHEMISTRY SSC-l
Revised Syllabus

Total Marks Sections Band C: 53

Y

NOTE:- Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately

provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

Q.2 Answer any ELEVEN parts. The answer to each part should not exceed three to four lines. (11x 3 =33)

(i)

(i)

Note:

Q.3

a0 T

Q.4

Attempt any TWO questions. All questions carry equal marks.

SECTION — B (Marks 33)

Identify the branch of Chemistry, that is related to the following information:

a. Sulphuric Acid is weaker than HCL.
b. Gases can be compressed by applying pressure.
C. Hair contain a special class proteins called keratins which is present is nails and wool.

Determine the formula masses of the following:

a. Urea (NH,),CO

b. Ammonium Nitrate NH,NO,

What were the conclusions of Rutherford's experiment?

Write any three uses of isotopes?

Identify the group and period of 1237AI , B, f;Mg on the basis of electronic configuration.
What is Atomic size? Write its trends in periodic tabie.

What is the importance of Gilue and Adhesives in our society?

Differentiate between Diffusion and Effusion of Gasses. Aiso give examples.

Why does evaporation lower the temperature of Liquids?

Define Saturated, Unsaturated and Super-saturated solutions. Also give examples.
Differentiate between Colloid and Suspension, with the help of examples.

Define Oxidation Reduction reaction. Also give one example from daily life.

Draw a labelled diagram of the Daniel’s cell.

a. Which of the given elements is more metallic and Why? Mg or Al
b. What is the importance of Mg?
C. F, oxidizes all the halide ions to free Halogens. How?

Compare reactivity of Alkali and Alkaline earth metals by their positions in the periodic table.

SECTION - C (Marks 20)

Define Electro-negativity. Explain the Electronegative characters of elements. Give examples.
Give any three important uses of Platinum.
What is Alloying? Also give example.

Define Rusting of Iron.

How can you manufacture Sodium Hydroxide from Brine?
A solution is prepared by dissolving 10 gram of Haemoglobin in water to make up 1dm” in
volume. Calculate moiarity of this sclution. Molar mass of Haemaglobin is 6.51 x 10* g / mole.

What is Concentration Unit? Give examples.

What is Vapour Pressure? Explain effects of temperature or: Vapour Pressure.
Define Intermolecular forces. Explain Hydrogen Bonding found in Water. Also draw diagram.
What is Shielding effect? Which atom has greater shielding effect and Why? Be or Mg.

—— 1SA 1308 (L) —
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RoitNo. | T[T Answer Sheet No.
Sig. of Candidate. Sig. of Invigilator.
CHEMISTRY SSC-I

SECTION — A (Marks 12)

Time allowed: 20 Minutes Revised Syllabus

NOTE:- Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C /D, Each part carries one mark.

Which of the following is a molecular ion?
A. CN~ B. CN C. N’ D.  =N:
Which of the following isotopes is used to trace the flow of blood and detect possible constrictions or

obstructiors in the circulatory system?

A Cobalt-60 B. lodine-123 C. Carbon-14 D. Na-24
(iif) Atomic Numbers were discovered by

A Rutherford B. Moseley C. Dalton D. Bohr
(iv) In which group of the Periodic table is 13528 present on the basis of electronic configuration?

A, V"Agroup B V" Agroup  C. VI"Agroup D VII™ A group
(v) Due to high ionization energies, which elements do NOT lose electron?

A Metals B. Non-metals

C. Transition elements D. Radio active elements
(viy Which of the following is Sublime?

A HCI (Acid) B. H,S0O, (Acid) B. Benzonic Acid D. Calcium Carbonate
(vit} Melting point of Sodium Chloride is .

A 701°C B. 801°C C. 901°C D. 1001°C
(viii)  Vegetable oil is converted into vegetable ghee by passing H, gas through the oil. In this process

which of the following elements is used as a catalyst?

A Pt B. Pb C. Ni D. Cu
(i) What is the oxidation state of Hydrogen in case of Metalic Hydrides?

A +1 B. -1 C. +2 D. -2
(x) Which of the following is used as cathode in the Down's cell?

A, Iron B Platinum C. Graphite D. Aluminium
(xi) Which of the following is Milk of Magnesia?

A MgO B. Mg (OH), C. MgCO, D. Mg(NO,),
(xii) In Agua Regia, the ratio between HC4(conc)and HNO(conc)is .

A. 3:1 B. 21 C. 1:3 D. 102
For Examiner’s use only:

Total Marks: EE:]
Marks Obtained: "
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Roll No L L J _T l r” Answer Sheet No
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CHEMISTRY SSC-I
Revised Syllabus

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE:- Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION - B (Marks 33)

Q.2 Answer any ELEVEN parts. The answer to each part should not exceed three to four lines. (11 x 3 = 33)

(i)
{ii)

Note:

Q.3 a.

Differentiate between lon and Free-Radical, Give examples.

Calculate the number of atoms in the following compounds:

a. 1.256 moles of Zn b. 0.2 moles of Al

Write any three postulates of Bohr's atomic theory.

Chlorine has two isotopes. Draw the diagram to show the structure of isctopes of chiorine.

Also write the isotope symbols for each.

Describe briefly the Shell and Sub-shell. Also relate electronic configuration with the Aufbau Principle.
in which period and group are the following elements present in the Periodic Table:

a B b Mg o ar

Define lonization Energy, Electron Affinity and Atomic Size.

State Octet and Duplet rule, How does Al form a cation?

Draw electron cross and dot structure for the following molecules:

a ccl, b. NH, c CO,

What is Boiling point? How does the external pressure affect the boiling point?

a. Define Boyle's Law.

b. Ethene is used as anaesthetie gas. When the pressure on 2.5 dm® of ethene is changed from
1.05 to 2.10 atm, the volume of Ethene becomes 1.25 dm® | if temperature remains constant. Explain
this change using Boyie's Law.

Differentiate between Amorphous Solids and Crystalline Solids.

If 40 gram of urea (NH,CONH,) is dissolved in water to make 500 cm® of solution then what is the
Molarity of the solution.

What is Solubility? Explain the attraction of Ma* and C/™ ions for water molecules. Also draw diagram.
Compare Solution, Suspension and Colloids with one example each.

SECTION — C (Marks 20)

Attempt any TWO questions. All questions carry equal marks. . (2x10=20)

What are the rules for assigning oxidation state / number? (04)

Breath Alyzer contains an acidic solution of Potassium dichromate K,Cr,0, .

Determine the oxidation state of Crin it. (04)
What is Spontaneous process? Give its examples from daily life. (02)
Write down any four chemical equations to compare the reactivity of the Halogens. (04)
Arrange the following compounds in order of increasing acidic and Basic characters: (2+2)
(i) HF . HI | HBr , HCI (ii) BeO . Ca®0 , MgO ., SrO

What do you know about Silicon Chip? Write its uses. (02)
What is Shielding Effect? Which of the following atoms have smaller shielding effect: (1+4)
(i) F or Cl (i) Li or Na (iii) B or Al (iv) C or Si

How is Covalent Bond formed? Write its types. Give examples for each type.
Alsoc draw diagrams. (05)
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Roll No. o ' ‘ LJ‘ l | Answer Sheet No.

> ; Sig. of Candidate. Sig. of Invigilator.
%0/’

CHEMISTRY SSC-I

SECTION — A (Marks 12)
Time allowed: 20 Minutes (Old Syllabus)

NOTE: Section-A Is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

WS

AL 804,

ey
“9/“ N,
TR

>

Q.1 Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

(0 Which of the following is an exothermic chemical reaction?
A Combustion of natural gas B. Neutralization of a strong acid with strong base
C Formation of ice D. Formation of COp from Carbon and Oxygen
(iiy Which acid is present in Honey-Bee sting?
A Citric acid B. Tartaricacid  C. Lactic acid D. Formic acid
(iii) From which solution electricity can NOT pass?
A. Urea B. Copper Chioride
C. Sodium Chloride D. Potassium Chloride
(iv) 16 cm® alcohol is present in 80 cm® of its solution in water. What is the percentage by volume of

alcohol in this solution?

A 10% B. 15% C. 20% D. 25%
(V) On heating, some solids change directly into vapours. What is this phenomenon called?

A. Evaporation B. Sublimation C. Meiting D. Boiling
(vi) What kind of bond will be formed between two atoms of Oxygen?

A. lonic bond B. Covalent bond

C. Coordinate Covalent bond D. None of these

(vii) How many elements are present in the sixth period of the Periodic Table?

A Thirty B. Thirty-two C. Thirty-four D. Thirty-three
(vill) Which of the following rays are NOT affected by the magnetic and electric field?

A Alpha B. Beta C. Gamma D. X-rays
(ix) Empirical formula of Benzene is CH. What is its molecular mass?

A 76 B. 77 C. 78 D. 79
(X} How many oxygen atoms are present in SO,?

A Two B. Three C. One D. None of these
(xi) How many senses does a man use as a basic tool for observation?

A. Three B. Four C. Five D. Six
{xii) What is the formula of Sodium Sulphate Decahydrate?

A Na,50,.10H,0 B. Na,S504.5H,0

C. NaCl D. NaNO3

For Examiner’s use only:

——
Total Marks: i 12 |
Marks Obtained: W
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CHEMISTRY SSC-I
(Old Syllabus)

Time allowed: 2:40 Hours Total Marks Sections Band C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately

provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 33)

Q.2 Answer any ELEVEN parts. The answer to each part should not exceed three to four lines. {11 x3=233)

)
i)
iii)

iv)

(i
(
i
(
(

v)

{xi)
(i)

(xiif)

(xiv)

(xv)

What is meant by Valency and Radical?

What is Transmutation?

What are Transition elements?

Differentiate between a Covalent and Coordinate-covalent bond.

The process through which a solute gets dissolved in the solvent is called Dissolution.
a. How does Sodium Chloride dissolve in water?

b. Indicate the Hydrogen bonding between water and ethyl alcohol moiecules.
What are the objectives of Electroplating?

What facilities are provided by Chemistry to mankind? Write briefly.

Complete and balance the following equations:

a. BaCl +K,S0

2(aq) 27 T4(aq)
Heat

Y

b. KCIOS(S)

Heat
c. Zn(NoS)Z(S) ———
How much solution of Sodium Chloride having concentration 4% by mass will be needed to contain
3 g of Sodium Chlioride?
The following reaction takes place when Carbon is burnt in excess of Oxygen:

C CcO H = -383.
(s) +02(g) —CO, A 393.42kJ

(9)

a. Is the above reaction exothermic or endothermic?

b. How much heat is evolved when one gram of Carbon is burnt in excess of Oxygen in
the same way?

Define Aufbau Principle.

When Chiorine reacts with water what compounds are formed? What is Chlorination of water?

Give reasons:

a. Metals have high meiting and boiling points.

b. High pressure changes the shapes of metals.

C. Metals are good conductor of electricity.

Give reasons:

a. Hydrogen diffuses faster than Oxygen or Carbon.

b. It is easy to compress gaseous state of matter as compared to liquid.

Define Freezing Mixture with an example.

SECTION - C {Marks 20)

Note: Attempt any TWO questions. All questions carry equal marks. (2x 10 = 20)

Q.3 Describe the different concepts about the definition an acid and a base. (10)

Q.4 Define Electrolysis. Explain Faraday's Laws of Electrolysis. (10)

Q.5 Describe any five features of the Modern Periodic Table. (10)
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COMPUTER SCIENCE SSC-I
SECTION — A (Marks 12)

Time allowed: 20 Minutes

NOTE:- Section-A is compulsory. All parts of this section are to be answered on the question paper itst
it should be completed in the first 20 minutes and handed over to the Centre Superintende
Deleting/overwriting is not allowed. Do not use lead pencil. .

Q.1  Circle the correct option i.e. A/ B/ C /D, Each part carries one mark.

(i) In1786 AD____ proposed a calculating machine called Difference Engine.
A John Napier B. Leibnitz
C. Charles Babbage D. J.H. Muller
(i) is an object-oriented programming language developed in 1991 AD.
A C/C++ B. ADA
C. Java D. Visual Basic
(i) The number of tracks in one cylinder of hard disk with two platters is
A 4 B. 8
C. 16 , D. 32
(iv) Press ‘CTRL+5’ for in the selected paragraph.
A Single Line Space B. 1.5 Line Space
C. Double Line Space D. 2.5 Line Space
(v) Which of the following is a DOS Internal command?
A SYS B. REM C. FC D. XCOPY
(vi) An 8-bit address bus can address a memory of
A 1 Byte ) B. 8 Bytes
C. 256 Bytes D. 256 Bits
(vii) By default, word automatically saves any document after every
A 5 minutes B. 10 minutes C. 15 minutes D. 30 minutes
(viily Which of the following is NGT present on Edit Menu?
A. Font B. Go To C. Find D. Ctri+Z
(ix) What is the number of Mouse actions with two button mouse?
' A 3 B. 4 C. 5 D. 6
(x) Which of the following is NOT a pointing device?
A Mouse B. Joystick C. Trackball D. None of these
{xi) Monitor shows resolution from 800 x 600 pixels to 1280 x 1024 pixels.
' A S-VGA . B. VGA _
C. EGA D. None of these .
xii) The storage capacity of a single _Is upto 680 M bytes equivalent to 500 floppies.
A Hard Disk B. DVD
C. CD-ROM D. None of these

For Examiner’s use only:

Marks Obtained:

Total Mar-ks: | ‘ E‘a
L]
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COMPUTER SCIENCE SSC-I

Time allowed: 2:40 Hours Total Marks Sections B and C: 43

NOTE:- Answer any nine parts from Section ‘B’ and any two questions from Section ‘C' on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 27)

Q.2 Answer any NINE parts. The answer to each part should not exceed 3 to 4 lines. (9x3=27)
(i) Draw the Block diagram of a Computer system with the sub-units of CPU.
(i) What is a Register? Name any three of its types.

{iii) What is the difference between RAM and ROM?

{iv) What are the advantages of using a Word Processing program over a Typewriter?
(v) How is System software different from Application software?

(vi) What is the significance of byte?

(vii) Write three advantages and three disadvantages of using Internet.

(vii)  Whatis a Scanner? How does it work?

(ix) What is the difference between Main Memory and Secondary Memory?

{x) Write down the procedure to change a directory?

(xi} What is the use of Task bar, Scroll bar and Title bar in Windows?

(xii) What is the difference between an Analog and a Digitai computer?

(xiii)  What were the three important concepts emphasized by Jacquard's invention?

SECTION — C (Marks 16)

Note: Attempt any TWO questions. All questions carry equal marks. (2x8=16)

Q.3 a What is Service software? How is Windows better than DOS? Explain. (4)
b. What is the difference between Super-computer and Micro-computer? 4)

Q.4 a. What is a Computer Bus? Explain Data Bus and Control Bus - (4)
b. What is a Floppy disk? How does it store data? 4

Q.5 a. Why is a Non-impact printer better than an impact printer? Also explain Laser-Jet Printer. (4)
b. What is a Parameter? (2)
c. Explain COBOL. (2)

— 1SA 1311 —
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ENGLISH COMPULSORY SSC-I
SECTION — A {(Marks 15)

Time allowed: 20 Minutes

NOTE:- Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct optioni.e. A/ B/ C /D. Each part carries one mark.

() Which is the most dangerous type of pollution?
A Land pollution B. Noise poliution C. Water pollution D. Air pollution
(i) How old was Hazrat Khalid bin Waleed (RA) when he died?
A Sixty three B. Sixty C. Sixty one D. None of these
(i) At the end of the summer season, which of the following kinds of bee / bees, is / are turned out of the
bee hive to die in the cold?
A The queen bee B. The drone bees
C. The worker bees D. The robber bee
(iv} On which day of the Chinese New Year,do the Chinese keep their shops closed, as they believe that
opening shops on that day brings bad luck?
A First day B. Second day C. Third day D. Fifteenth day
(v} The uncovered food is dangerous for health because
A Itis distasteful B. It attracts dust
C. It is unclean D. It carries bacteria and germs of various diseases
(v} The name of the forest to which Prince Tai was sent alone by Pan Ku was .
A Ting-Li B. Bing-Li C. Ming-Li D. Shing-Li
{vil) ‘I have written the letter’”. What tense is it?
A Present Perfect Tense B. Past Perfect Tense
C. Present Indefinite Tense D. Past Indefinite Tense

(vii}  “The aeroplane had taken off when the passenger reached the airport”.
The underiined word is a/an

i

A Conjunction B. Adjective B. Adverb D. Pronoun
{ix) “They excelled in every walk of life”. What does the underlined word mean?

A Receded B. Outshine B. Lost D. Worked
(x) Which of the following is the antonym of the word Obligation?

A Duty B. Requirement C. Responsibility D. Optional
(xi) Which of the following sentences is CORRECT?

A Trust in God and do your best B. Trust on God and do your best

C. Trust by God and do your best D. Trust from God and do your best
(xit) The china basin which Rebecca Mason broke was lying on

A The sofa B. The table

C. The mantelshelf Q. The floor
(xiii)  Which of the following poems has been written by Thomas Miller?

A Littie Things B. Evening

C. Abou bin Adhem D. Truth — the best
(xiv)  Where was William Wordsworth wandering when he saw a host of golden daffodils?

A In a meadow B. By the riverside C. Beside alake D.  Onahill
(xv) Which of the following words is correctly spelt?

A Warfair B. Warfare C. Warfear D. Warfiar

For Examiner’s use only:

Marks Obtained:

Total Marks:
| '
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ENGLISH COMPULSORY SSC-I

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE:- Answer all the questions of Sections ‘B’ and ‘C’ on the separately provided answer book.
Use supplementary answer sheet i.e. Sheet-B if required. Write your answers neatly and legibly.

SECTION — B (Marks 39)

Q.2  Answer any SIX of the following parts in about 30 to 40 words each. Each part carries 3 marks.

)
i)
fii

(
(
(
(iv)
(
(
(
(

=

{6x3=18)
What influence did the teachings of Holy Prophet Muhammad (P.B.U.H) have on the people of Arabia?
What is the favourite colour of the Chinese and what is its significance for them?
In which ways do animals serve mankind? (Refer to the lesson — Kindness to Living Things)
Why and where did the king send Prince Tai?

) How has Islam helped the Western countries in developing the sciences?
vi) How can we save nature in its original form?
vii) Why are women keen to work outside their homes?
viif) How should we start our daily routine in the morning?
Q.3 A Paraphrase any ONE of the following stanzas: (03)
() ‘And is mine one?’ said Abou. ‘Nay, not sg, (i)  But Rebecca recollected,
Replied the angel. Abou spoke more low, She was taught deceit to shun;
But cherry still; and said, ‘I pray thee, then, And the moment she reflected,
Wirite me as one that loves His fellow men.’ Told her mother what was done;
B. Read the following stanza carefully and answer the questions given at the end: (06)
For God is by when | pray,
And when | close mine eyes in sleep,
[ know that He will with me stay,
And wilt all night watch by me keep.
Questions:
(i) What does the poet feel when he prays?
(i) Whom does the poet believe wouid keep watch over him while he is asleep?
(iiiy From which poem has the stanza been taken?
Q.4 Change the Voice of any FOUR of the following: (04)
(i) He is not carrying bricks to the roof. (i) Let the oranges be eaten.
i} Who boils eggs? (iv) Football was being played by him.
) They are buying clothes. (i) Was the bell rung by a boy?
(vii) Do you repair cars?
Q.5 Use any FOUR of the following Phrasal Verbs in sentences: - {04)
(i) come across (in set out (iiiy run out (v} bear away
(v} pass away (vi) turn down (vii) pull down
Q.6 Punctuate and capitalize the following parailine(s): {04)

to hear the unheard remarked pan ku is a necessary discipline to be a good ruler

SECTION -~ C {Marks 21)

Q.7  Write a letter to your friend asking him / her to lend you his / her camera for sometime. (08)

-OR-

Write a letter to your younger brother advising him fo take interest in games and sports.

Q.8  Wirite a paragraph of about 50 to 70 words on “Importance of Traffic Rules” with the help of the following
word bank: (08)

Busy roads — increase in traffic — impatience — traffic jams — accidents-—quarrels — traffic rules —
regulate traffic flow —refiect national character — violators — heavy fine — income for the state.

Q.9 Translate any FIVE of the following sentences into English: (05)
Sl SRt i) AL I A e ) e BT )
e M e T (i) ce byl (V) Ut AU E U P ()

Rl b T (i)
OR-

Write a dialogue between a father and a son about what the son would like to become in life.
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Sig. of Candidate. Sig. of Invigilator.
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ENGLISH COMPULSORY SSC-I
SECTION - A (Marks 15)
Time allowed: 20 Minutes
NCOTE:- Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.
Q.1 Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.
(i) Hazrat Khalid bin Waleed (RA) was the son of
A Waleed bin Maaz B. Waleed bin Mughira
C. Waleed bin Akrama D. Waleed bin Harris
(i) What do the drone bees da?
A Defend the bee hive B. Destroy the robber bees
C. Develop the cells of the hive D. Do nothing at all
(i Who excelied in shaping the human body?
A The Greeks B. The Arabs C. The Romans  D. The Persians
{iv) The news article, ‘Ladies Park —a shambles!’ was published in which newspaper?
A The Nation B. The News C. The Pulse D. Dawn
(v) In China what do the children and unmarried people offer to their elders on the first day of the New Year?
A Cups of tea B. Red packets C. Flowers D. Rice
{vi) . The companions of Holy Prophet Muhammad (PBUH) while travelling in his company, saw two
young sitting in a nest.
A. Sparrows B. Pigeons C. Doves D. Parrots
{(vity Do not write green ink. Choose the correct Preposition.
A by B. with C. in D. for
(viy  “Wagar polishes his shoes, What tense is it?
A Present Perfect Tense B. Present Indefinite Tense
C. Past Indefinite Tense D. Present Perfect Continuous Tense
{ix) “He completed the work in complete solitude”. The underlined word means
A Sincerity B. Sadness C. Silence D. Loneliness
{x) From the following words which one is Antonym of the word Recoliect?
A Forget B. Remember C. Retain D. Remind
(i) “Many people in Pakistan can speak Engish fluently”. The underlined word is a/an
A Adjective B. Pronoun C. Verb D. Adverb
{xil) When William Wordsworth saw the daffodils he was
A. climbing a hill B. walking at ease
C. day dreaming D. sitting under a tree
(xiiy  Where did Rebecca Mason break a china basin?
A. Dining room B. Parlour C. Kitchen D. Bedroom
(xiv)  Abou woke one night from a
A Sound sleep  B. Dream C. Deep dream  D. Deep dream of peace
(xv) Which of the following words is correctly spelied?
A Agurieum B. Aguareium C. Aguarium D. Aquariam
For Examiner’s use only: .
Total Marks: 15 \
=
Marks Obtained: f ‘
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ENGLISH COMPULSORY SSC-I

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE:- Answer all the questions of Sections ‘B’ and ‘C’ on the separately provided answer book.

Use supplementary answer sheet i.e. Sheet-B if required. Write your answers neatly and legibly.

SECTION ~ B {Marks 39)

Q.2 Answer any SIX of the following parts in about 30 to 40 words each. Each part carries 3 marks.
(6x3=18)
(B Describe the personality of Hazrat Khalid bin Waleed (RA).
(ii) What is the importance of the traffic lights? (Refer to the lesson — ‘Road Safety’)
(iii) What advice did the Holy Prophet Muhammad {PBUH) give regarding branding of animals?
(iv) What did the woman tell the journalist about ‘Fatima Park’?
(v) What happened when Prince Tai went to the forest for the second time?
(vi} Explain why the Chinese stay at home on the third day of the New Year and keep their shops closed?
(vii) What do games teach us?
(vii)  VWhat do the worker-bees do?
Q.3 A Paraphrase any ONE of the following stanzas: (03)
() The tambs have now lain down to sleep, (i) The waves beside them danced; but they outdid
The birds have long since sought their nests; The sparkling waves in glee,
The air is stili; and dark, and deep A poet could not but be gay,
On the hill side the old wood rests. in such a jocund company,
B. Read the following stanza carefully and answer the questions given at the end: (06)
Exceeding peace had made bin Adhem bold,
And to the presence in the room he said,
“What writest thou?" —The vision rais'd its head,
And with a look made of all sweet accord,
Answer'd, ‘'The names of those who love the Lord,
Questions:
(i) What made Abou bin Adhem bold to question the angel?
(i) What answer did the angel give in reply to Abou's question?
(iii) What was the mood of the angel whiie answering Abou’s question?
Q.4 Change the Voice of any FOUR of the following: (04)
() Build a house for me. i) His proposal cannot be agreed to by us.
(i) Why did Majeed scold you? {iv) He was being examined by the doctor.
(v) The man is lighting a cigarette. (v) She wilf have finished the work.
{vih) Her car has been sold by him.
Q.5 Use any FOUR of the following Phrasal Verbs in sentences: (04)
(i break down (i) drop out (in) look info (iv) break out
(v) carry out (viy give up (Vi) turn down
Q.6 Punctuate and capitalize the foliowing para/line(s): (04)
the school going children have P T classes in which they play games like cricket hockey and participate
in physical exercises
SECTION - C (Marks 21)
Q.7  Write a letter fo your father or mother teliing him or her about your preparation for the annual examination.(08)
-OR-
Write a letter to your friend inviting him/her to spend the summer vacation at your home.
Q.8  Write a paragraph of about 50 to 70 words on “Importance of Health” with the help of the following
word bank: (08)
Wealth — blessing — Allah — healthy body — heaithy mind — good health—problems of life tackled —
life enjoyed—maintenance—good diet—regular exercise-—avoid mental worries—prayers—clean environment.
Q.9 ‘Translate any FIVE of the following sentences into English: (05)
EUAE 1y i Kbl T (i) —ebigdin ()
S L JE (i) —e e W) urEl W ()
JK/L:{.:;{)C’JGT: = (vii)
-OR-
Write a dialogue between two friends about their favourite T.V programmes.
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Roll No. ‘ ] ‘ L { ‘ Answer Sheet No.

Sig. of Candidate. Sig. of Invigilator.

ENGLISH COMPULSORY SSC-
SECTION — A (Marks 15)

Time aliowed: 20 Minutes

NOTE: Section-A is compulsory. All\parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.

Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct optioni.e. A/ B/ C/D. Each part carries one mark.

(iy What was the standard of superiority in the Holy Prophet's (PBUH) view?

A. Wealth B. Good manners C. Piety D. Simplicity
(i) The Chinese believe that all the debts must be paid of the year.

A On the last day B. In the third month

C. In the first month D. On the first day
(i) What is the purpose of playing games?

A To make us active B. To develop our bodies and mind

C. To make us smart D. To make us intelligent
(iv) We should keep our clean to avoid pollution.

A Air B. Water C. Environment D. Building up roads
(v) For about a thousand years, the Muslims were the of knowledge.

A Torchbearers B. Lamps C. Light D. Superstars
(i) God created the universe to serve as a manifestation of His .

A Sight B. Height C. Light D. Right
(vii) Choose the correct spelling.

A Exceding B. Ecceeding C. Exeeding D. Exceeding
(vii)  Which of the following words is NOT synonym to the word ‘Alone’?

A Apart B. Detached C. isolated D. Connected
(ix) “He talks in a loud voice.” The underlined word is a/an .

A. Noun B. Adjective C. Abstract Noun D. Conjunction
(x) honest person always succeeds in the end.

A A B. An C. The D. None of these
(xi) “Your son will return soon”. The underlined word is a/an .

A Verb ‘ B. Adverb C. Noun D. Adjective
(xii) “Both the teams are playing well”. The underlined word is afan .

A Noun B. Abstract Noun C. Collective Noun D. Adjective
(xii)  Which of the following is a correct sentence?

A. The novel is too interesting. B. The novel is much interesting.

C. The novel is very interesting. D. The novel is too much interesting.
(xiv)  Which of the following is NOT a sentence?

A The singing of the birds delights us. B. All roads lead to Rome.

C. On the top of the hill. D. Nature is the best physician.
(xv) “The steamer sailed yesterday”. What tense is it?

A Present Indefinite B. Past Perfect

C. Past Indefinite D. Present Perfect

For Examiner’s use only:

Marks Obtained:

Total Marks:
]
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ENGLISH COMPULSORY SSC-|

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Answer all the questions from Sections ‘B’ and ‘C’ on the separately provided answer book.

Use supplementary answer sheet i.e. Sheet-B if required. Write your answers neatly and legibly.

Q.4

SECTION — B (Marks 39
Answer any SIX of the following parts in about 30 to 40 words each. Each part carries 3 marks.

(6x3=18)
(i) What was the result of Hazrat Muhammad’s (PBUH) teachings on the people of Arabia”?
(i) What signs of bravery did Hazrat Khalid bin Waleed's (R A.) body show?
(i) Where was Hamid taken in the city and how did he feel?
(iv) What is self-employment? (Refer to the lesson ‘Women Arisel’)
(v) What do the games teach us? Answer with reference to the lesson ‘Sports and Games’.

(vi) Who are drones?
(vii) How do tiny rocts derive water from the soil?
(viii)  Why should we clean our teeth after meals instead of before meals? (Refer to the lesson ‘Doctor’s

Advice')
i Paraphrase any ONE of the following stanzas: (03)
(i} | wandered lonely as a cloud, (i) For God is by when | pray,
That floats on high ¢’er vales and hills, And when | close mine eyes in sleep,
When all at once | saw a crowd, [ know that He will with me stay,
A host of golden daffedils; And will all night watch by me keep.
B. Read the following stanza carefully and answer the questions given at the end.

Quite alarmed, she thought of going .
Very quietly away,

Not a single person knowing

Of her being there that day.

Questions:
(i) What were Rebecca’s feelings when she broke the china basin? (02)
(i} Why did no one else know that Rebecca had broken the china basin? (02)
(iii) What could have you thought after breaking the china basin? (02)
Change the Voice of any FOUR of the following sentences: (04)
0] The peon opened the gate. (i) He will finish the work in a fortnight.
(iti) He kept me waiting. (iv) We expect good news.
(V) They asked me my name. (vi) The building was damaged by the fire.
(vil) Do not insult the weak.
Use any FOUR of the following Phrasal Verbs in sentences: (04}
(i) Back up (ii) Hit upon (i) Well off (iv) Shake off
(V) Dispose of (vi) Break into {vii) Callin
Punctuate and capitalize the following paralline(s): (04}

cemented houses shopping markets offices schools colleges universities banks and parks are found
everywhere

SECTION - C (Marks 21)

Write a letter to your younger brother who is exclusively cccupied with his studies, advising him to take
part in athletic games. (08}

-OR-
Wirite a letter to your friend, asking him to return a book which you ient him a long time ago (express in such
terms that your friend will not take offence).

Wirite a paragraph of about 50 to 70 words on “A Rainy Day” with the help of the following word bank:

(08}
Hot day — nobody expected the rain — so dark that — flooded — past fortnight — intolerably hot — a blessing.
Translate any FIVE of the following sentences into English: (05}
-_lfg,;;f;%dﬂﬂgé -r QL;-KU”{UL{J;CL/ -r -@Q;@&f;«t}:{)s}(/d_»fé 1

—V”L‘é‘jw&%/ﬂg_’b;!‘!jw’L‘u: 0 '\J:JE/TJ:;E".TJLU’”&J&;(JJ v
v E e el o e R

-OR-
Write a dialogue between two friends on examination system.
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Roll No. [ \ j ‘ 1 } ) Answer Sheet No. | [

Sig. of Candidate. Sig. of Invigilator.

ISLAMIYAT COMPULSORY SSC-|
SECTION — A (Marks 15)

Time allowed: 20 Minutes

NOTE:- Section-A is compulsory. All parts of thls section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C ! D. Each part carries one mark.

(i) How many steps are obligatory in ablution?

A 4 B. 5 C. 6 D. 7
(ii) What does G5BT means?

A The tales of hypocrites B. The tales of pagans

C. The tales of Arabs D. The tales of early people (of men of old}
(iii) The requirement for love of God is .

A. Beneficence B. Reason C. Faith D. Knowledge
(iv)  What does loe mean?

A Stone B. Boundaries C. Blunt D Sharp
v) What is meant by \;;-a:‘ll?

A, To pray : B. To request

C. Respond the call D. To fight bravely
(vi) The Holy Quran was revealed in about years.

A 23 B. 24 C. 25 D 26
(vii) In which verse of Surah-al-Ahzaab, does its name appear?

A 40 B. 35 C. 21 D. 20
(vii)  What does 9‘}5 mean?

A Throat B. Mouth C. Ear D. Nose
(ix) Who amongst the people is the best according to Hadith?

A One who praises Allah a lot

B. One who believes in Allah and His Prophet (PBUH)

C. One who is pious

- D One who gives profit to people

(x) ‘Both who gives and who takes bribe are in hell'. The given statementis a

A Saying of Hazrat Ali (RA) B. Saying of Igbal (RA)

C. Hadith D. Quranic Verse
(xt) Prayer is the of religion (Deen).

A Bridge B. Piliar C. Tower D. None of these
(xii)  Which Surah has the given verse been taken from ’,.:,’»wafuajﬁb BI&EI 2

A. Surah-al-Ahzaab B. Surah-al-Hujrat

C. Surah-al-Anfal D. Surah-al-Bagarah
(xiil) ~ Whatis meantby &, (algharmeen) in Masaraf-i-Zakat?

A Prisoner B. Poor C. Traveller D. Debtors
{xiv)  How many disposals of Zakat have been described in the Holy Quran?

A g B. 10 C. 8 D. 7
(xv) How many things are included in Taharat?

A 3 B. 4 C. 2 D. 5

For Examiner’s use only:
Total Marks: E
Marks Obtained: E
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ISLAMIYAT COMPULSORY SSC-I

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE:- Answer all the questions of Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 38)
Q.2 a Translate any TWO of the following Quranic Verses: (2x4=28)

041 BB T Tt GBI 30l 8 L FSHL RALEIIEY S 0
S22 6,5 & G850 ouatd i PRSI e S W i

O3l otnel e 8501 G o 5151 Ot 3292 05 e &1 o U8 58 Y1300 GG (i

p A

;

b. In the Quranic Verses and their translation given below write in detail the meanings
of any FOUR underiined words: (4 x 2 =8)

cShot Gy W15 IS 55D 2 TS TS )

Translation:

Your ties of kindred and your children will avail you naught upon the Day of Resurrection.

He will decide between you. Allah is seer of what you do.
b IR E 5 B s A Rt e 39 A - By 2 .Y > % EAN TN e
A W a3 KON T alid 28 0 3 035 5 ik Gah G
- g sy L - L & s 2~
ek 138 FB S KIS0 T anl phio

O you who believe! keep fearing Allah, and speak words straight to the point — He will adjust

(i)

Transiation:

your words for you and will forgive you your sins. And whosoever cbeys Allah and His

Messenger, he verily h=: gained a signal victory.

c. Write short answers to any SIX of the following questions: (6 x2=12)
0] What is meant by L”.Eljfd\f».:i ?
(i) What qualities of Muslim men and women have been described in Surah-al-Ahzaab?
(i) What is meant by the two groups in Surah-al-Anfaal?
(iv) On which points, has Hazrat Muhammad (PBUH) been asked to take an oath from the
Muslim-women in Surah-al-Mumtahina?
(V) Explain the meaning of Ehsan.
(vi) What are the benefits of <l (Purification)?
(i) Why are property and children a test?
Q.3 Translate and explain any TWO of the given Ahadith and describe how they are

related to our practical life: (2x5=10)
ok I e b L LD 0)
I RL-Or IV PR ST I P IR ii
LUS 3 ey U hee o ol 2 L ()
I P P (iii)
_eny il Vi Ty Uil i P Ol b o SLal]
SECTION -~ C (Marks 22)

Note: Attemptany TWO questions. All questions carry equal marks. (2 x 11 =22)
Q.4 What is the literal meaning of Shukr? What is the importance of Shukr in the light of Quran and

Sunnah? Aiso write the ways we can express thanks (shukr)?
Q.5 Why is it obligatory to follow the Holy Prophet (PBUH)? Also explain the meanings of
“finality of Prophethood” in the light of Quranic verses.

Q.6  Write a comprehensive note on the safeguard and superiority of the Holy Quran.

Islamiyat Compulsory Annual 2013 — 1SAT305 — 38



Visit TopStudyWorld.Com to Get Great Marks in SSC, HSSC and Entry Tests

- o ol gl (‘_;an) LI EPy I

60 ¢ ol P ,o/nj E‘: 2:40 HOJ!
Jr(02) o 8 e B pr ol 02 (B L pn o s ¢ JF S0 sdializlatind proal pn o kS
Sl nlhiitsiz £ TSt flryi /Y (Sheet-B) 221241 Ly /f

(384)
(2x4=8) I_é.»’.}u:lﬁg 2 Jéfc:.uf:’_lzi'&fl.. (_)_'5.?1.«:/ WA 1"/,";L)fr’

g4 )

0AIT GBS ERT aan 53 bl Wl 2bals D2 L BRSAINL SEALEMIEYS 0

3

825215 M 583 DG gouath b F S WU s e i iy O

S A o Gy KN oo &= 57N O 393 06 2ple il G B Iy via g i

(4 x 2=8) EE b K5l e e e tule Yz o T3 o
St SIS W AR St I s s gy O

. ’ . , .- ,: - . . . . . .
e Uik LS F b AP S sl Znd T8t e A s nlenf 2l

22 0 L g A G 3 3 St , Bz P . .
A A 5 5 O M A s g !)’%»‘G.J!Q‘JL (i
e~ s s 44 ’/,. 15 >~
Om‘" PASET WS s d AR S

U}’/ngj i UI;ﬂnL g(_)g&fz'nlJJi_/b‘v;/sl_g/_J/W/JJW;/Q%J-J/Q(U/D{;E sl s b i e ) .
KB T S S
(6x2=12) e Lo (@) g e e tdive @

e Bl QT Un AU P01 (i) el J}S\J\;l (i)
{AEKHJ;-:/%;/’.‘.L;Q;L\;H;-QJUJJJ)( (/{/fdu:.; e (iv) V‘L:’/g:_u;fu( 0 A Je sy . (iii)
(AR e (i) _E e el )

eurSiusols sl U (vii)
(2x5=10) ce Ve Crdab s E CvenZ SE S ecset 5 58 A
A I e a L LE )
S AR ae SRl )
R P T R e P
22/4) proo

(2x11=22) AL gE Sy » =3
_%'/Qféi_}ié_ﬁ;r,ﬁﬁ?;_.;flgufﬁu::.»:uf}?ugg&’dﬂéf if"/',”Ul}’
L et P A ST e b fud st 00
_Mdg.:}@'lg{.;{)"‘ 7 &5&7&.«(&07; 1"/'_’Ulr‘

Islamiyat Compulsory Annual 2013 39



Visit TopStudyWorld.Com to Get Great Marks in SSC, HSSC and Entry Tests

S
Pe

Roll No. [ E F ! | | Answer Sheet No.

*
% ' !
i)
=
E

) Sig. of Candidate. Sig. of Invigilator.

MATHEMATICS SSC-l
SECTION - A (Marks 15)

-,
4

\ B0ag,

Time allowed: 20 Minutes

NOTE:- Section~A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not alowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C/ D. Each part carries one mark.

0] In an ordered pair (a,b), ais called
A Co-ordinate B. Ordinate C. Abscissa D. Quadrant
(i) Point (1-2)lies in the ____quadrant.
A. ! B. It C. n D. v
(i) 7—‘2@x1=‘i‘2/—5 shows property.
A Additive Inverse B. Multiplicative Inverse
C. Additive Identity D. Muitiplicative identity
(v)  4x50=
A 4 B. 5 C. 1 D. 20

(v) The standard form of 8.24x10 %is
A 0.00824 B. 0.0824 C. 0.000824 D. 0.824

(i) The characteristic of log19is
A 0 B. 10 C. 2 D. 1
iy a%-p3=(a-b) (———)
A a+ab-b? B. a% —ab-b> C. a+ab+ b2 D. a% - ab- b2

(viii) If x+1is a factor of x2+3x+m , then m=
A -1 B -2 C. 2 D. 1
{ix) The order of matrix [3 2] is

A 2x1 B. 2x2 C. 1%2 D. 1x1
(x) If matrix B i: is singular, then x=

A 3 B. 6 C. 4 D. 0
(x) | a=b, b=c.then a=cis called

A Postulate B. Axiom C. Given D. To prove
(xii) A triangle is said to be a/an triangle if its three sides are of equal length.

A Isosceles 8. Equilateral C. Obtuse D. Acute
{xiii) From two points ___line(s) can be drawn.

A Two B Three C. One D. Infinite
(xivy  There are acute angle(s) in an acute tnangle.

A One B. Two C. Three D. Four
{xv) AB stands for

A AB B AB c  AB D.  mAB

For Examiner’s use only:

]
Total Marks: [ 15 |
Marks Obtained: \#J
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MATHEMATICS SSC-I|

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE:- Attempt any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION ~ B (Marks 36)

Q.2 Attempt any TWELVE parts. All parts carry equal marks. (12x3=236)
0] Find the values of x and y, if (x~1,y+2)=(2x+4,-4)
(ii) [fU ={12,34......10}, A ={246810)} and B = {2,357} then find (An B)°

(i) 1f x=y2-1 then find tne value of x*.
X

/ m\m+nfl ( n n+l-m ‘o {+m-n
(iv)  Simplify i‘—J . X/J N LJ x#0
X \x Lxm
(V) Convert the wavelength 4.5x10%cm of blue light into metres and write in standard form.

(vi) If log 2= 0.3010, log 3= 0.4771, log 5= 0.6990, then find the value of log+/18
(vib) Evaluate with the help of logarithm 2391:3072

(viiiy  Find the value of a3+63 1¢3-3abc when a2 + b +c? < 26 . ab+bct+ac=5

1 2 1 2
(ix) Prove that (x+—f) _("‘*j _4
X X

(x) Find L.C.M by factorization aS+p3 \ a*-p* PEIAS
(xi) One algebraic expression is x3-x212x-2 and the other is x° - x? ~2x+ 2. Iftheir H.C.F is x-1,
then find their L.C.M.

2 2 2 .. 2
(xiiy  Simplify 3_13b+b” a-abxb’
a+b a-b

) 1—|2 l' 17
(xiii) Find square root of{a—varJ -4 a+§J+8 where a=0

L

(xiv) |fA=(“; j] : B:'ﬁ ﬂ then find AB.

.

‘then find A™". Also prove that A™"A=I

]

(xvi)  Solve by Cramer’s rﬂle 3x-6y-2=0 ; x+5y=-5

7 1
(xv) If A= [_3 9

1 1 1
23.(27)%.(60)2
1 -1 1

(180)2.(4)2 .(9)*

(xvii)  Simplify

(xviii) Construct AABCin which m.A = 75° |, mzB = 30° and AB = 4.5¢cm

SECTION — C (Marks 24)

Note: Attempt any THREE questions. All questions carry equal marks. (3 x 8 =24}

Q.3  Prove that if two lines intersect each other, then the vertical angles are congruent.
Q.4  Prove that if in a given correspondence of two triangles, the three sides of one triangle are congruent

to the corresponding three sides of the other triangle, then the triangles are congruent (5.5.5=S.5.9).

Q.5 Prove that a quadrilateral having two opposite sides parallel and congruent is a parallelogram.

Q.6 Draw angle bisectors of APQR in which PR = 5.3cm, m«£P = 30%and m<R = 60°

—_ {SA 1309 (L) —
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Answer Sheet No.

RoliNo. |

Ll

Sig. of Candidate.

Sig. of Invigilator.

MATHEMATICS SSC-I
SECTION - A (Marks 15)

Time allowed: 20 Minutes

NOTE:- Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not aliowed. Do not use lead pencil.

Q.1  Circle the correct optioni.e. A/ B/ C/D. Each part carries one mark.

(i) If (x=2, 1) = (-3, 1) then the value of x is
A -5 B. 1 C. 5 D. -1
(in) x.y.zeRand x=y and y=z=x=zis Property.
A Reflexive B. Symmetric C. Transitive D. Additive
(i) If x=¥34+2, then H% =
A. 23 B. 4 C. -2/3 D. None of these
(iv) The speed of light is cm per second.
A. 3x10° B. 3x10° C. 3x10™ D. 3x10*
(v) The standard form of 2.35x107% is
A 500 B. 0.0235 C. 700 D. 1000
(vi) If x+y=2 and xy=3 then the value of x’+y’=
A 4 B. -2 C. —4 D. 2
{vii) For what value of m, x*+4x+m will be a complete square?
A. 8 B. -8 C. 4 D. -4
(viii) mh 2=
A (2 3] B. F 6! 4 2} D. None of these
4 0, 1 2] 6 3
(ix) E 2] isa matrix.
A Singular B. Zero C. Scalar D. Unit
(x) The factorization of x’—5x+6 is
A (x—2)(x+3} B. (x—3)(x+2} C. (x=2)(x—3) D. None of these
(xi) In an isosceles triangle side(s) is/are congruent.
A Two B. Three C. One D. None of these
(xil) The line segment joining a vertex of the triangte to the midpoint of the side opposite to that vertex
is called of the triangle.
A Angle B. Altitude C. Median D. Base
(xii)  The diagonals of a parallelogram each other.
A Bisect B. Bisect at right angle
C. Are congruent to D. None of these
(xiv) In any tfriangle there can be right angle(s).
A One B. Two C Three D. Four
(xv) The angles of measures 50° and 1309 are called angles.
A Complementary B. Supplementary C. Adjacent D. Obtuse
For Examiner’s use only:
Total Marks: E
Marks Obtained: Ej
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Time allowed: 2:40 Hours

MATHEMATICS SSC-I

Total Marks Sections B and C: 60

NOTE:- Attempt any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers

neatly and legibly.

SECTION - B (Marks 36)

Q.2  Attempt any TWELVE parts. All parts carry equal marks. (12x3=36)
(iy If A={-2.0.2}andB={-1,0,-2} then write a binary relations for R in Ax B, when R = Wx.y) xeAnyeBaysx}
(i) IFU < {x/xeZr1<x<10}, A= {2.4,6810) , B ={2357! then find (auB)°
g 23,6
_ 164 a“b
(i) Simplify 3 ="~
\V216c%°
. = - 1 4 1
(iv) Ifa=+3-v2, thenevaluate a-- anda + =z
a a
2m Jn-n on n-! {2 {-m
(v) Simplify f,-},,,,, ;X (:L) Py i;) X %0
xm-n ] Uy Lxl—m’
(Vi) Iflog 2= 0.3010, log 3= 0.4771, log 5= 0.6990, then find the value of log %
(viy  Evaluate with the help of logarithm 3/4.872
(viii)  Ifa=1, b=1, c=3, then find the value of 332+%b3+%ca—16
(ix) If x5 is a factor of polynomial 6x° — 5x* =16x + m, then find the value of ‘'m’ by Remainder theorem.
(x) Find the value of a° + b> and abwhena+b=5anda-b=3
(xi) Factorize 2x°y — 32 xy°
(xii)  Factorize a*-2a’b+2ab’-b*
(xiit) Find H.F.C by factorization I2 —:;12,14 —m4.lb —_
(xiv)  Prove that H® + L> = A’ + B where H+L = A+B. In it H and L stand for H.C.F and L.C.M respectively,
and A,B represent two polynomials.
2
(xv)  Simplify & 193714, a+3
a®-3a-18 a-2
1 351
coi) I 1T 2212 then find the values of p and g.
3 pll7] |10]
(xvii)  Find the value of 'a’ when A= [2? ;4]and Al =16
(xviii)  Use matrices {o solve the linear equations: Jx=3-4y 1 2y=x+ 3
SECTION - C (Marks 24)
Note: Attempt any THREE questions. All questions carry equal marks. (3x8=24)
Q.3 Prove that an exterior angle of a triangle is greater in measure than either of its opposite interior angles.
Q.4 Prove that the sum of the measures of the three angies of a triangle is 180°.
Q.5 Prove that any point equidistant from the end points of a line segment is on the right bisector of it.
q
Q.6  Draw right bisectors of the sides of AABC in which m..A=75%, m2B=30° and AB=5¢cm
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RoliNo. | | | [ T | | Answer Sheet No.
Sig. of Candidate. Sig. of
Invigilator.

PHYSICS SSC-I
SECTION — A (Marks 12)

Time allowed: 20 Minutes

NOTE:- Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C /! D. Each part carries one mark.

(i) Which year was Dr. Abdus Salam awarded Nobel Prize?

A 1960 A.D B. 1979 AD C. 1969 A.D D. 1978 AD
(i) System International consists of basic units.

A 3 B. 5 C. 7 D. 9
(iii) Rate of change of velocity is known as

A Displacement B. Acceleration  C. Distance D. Relative Velocity
(iv) The weight of a body of 20 kg mass is Newton on earth.

A. 2 B. 10 C. 20 D. 200
(v) The decompaosition of a vector into two or more components is called of vector.

A. Resoiution B. Addition C. Subtraction D. Multiplication
(vi) According to the first condition of equilibrium

A T=0 B. TF=0 C TF=0 D. YA, =0

(vii) A satellite is revalving around the earth in a circular orbit. If the radius of the orbit is increased
from R to 2R, what will be its velocity?

2 v v
A 2v B. v 0% —

D. —

V2

(viil)  What is the unit of Power in System International?

A, Newton - B. Watt C. Joule D. Metre
{ix) The ratio of load and effort is called of any machine.

A. Mechanicai advantage B. In put

C. Out put D. Efficiency
(x) Viscosity of which of the following will be maximum?

A, Water at 20°C B. Honey at 20°C

C. Water at 90°C D. Honey at 90°C
{xi) When water changes into ice, it

A Contracts B. Expands

C. Becomes more dense D. Remains the same

(xiiy The art of measuring temperature is called

A, Convection B. Conduction C. Thermometry  D. None of these

For Examiner’s use only:
Total Marks:

Marks Obtained:
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PHYSICS SSC-I

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE:- Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 33)

Q.2 Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11 x3=33)

) What is the use of Vernier Calipers? What is meant by its Vernier Constant?
i) A body is moving with a uniform velocity. What will be its acceleration?

iif) If a moving body has no acceleration, does it mean that no force is acting on it?

V) Which are those two vectors whose resultant vector is zero?

vi) Under what conditions the distance and displacement between two points will be equai?

{
{
(
(iv) Why it is hard to stop fast moving and heavy vehicles?
(
(
(

vii) How do we know whether a body is in a stable or unstable state of equilibrium due to the position of its

centre of gravity?
(viii) Explain briefly Centrifugal force.
(ix) What is the Law of Conservation of Energy?
(x) A labour pushes a box to a distance of 20m. If the force required to push the box is 25N, what will

be the quantity of work done?

(xi) Define the following :

a. Effort Arm b. Load Arm C. Efficiency
(xii) What is meant by the surface tension of liquid?
(xiiy  Why one end of beam is placed on rollers while constructing bridges?
(xiv}  Why does tea in a cup become cold earlier as compared to tea pot?
{

Xv) Describe the different stages of scientific method.

SECTION — C (Marks 20)

Note: Attempt any TWO questions. All questions carry equal marks. {(2x10 = 20)

Q.3 a What is meant by Proportionality Constant? Explain by giving an example. (03}
b. Prove that S:v,'t—kgatz (4)
c. A fast moving car is moving on a straight road with an acceleration of 2ms™ . How much time
will it require to change the velocity from 20 ms”' to 40ms™? (03)
Q.4 a.  Explain Subtraction of vectors with one example. (04)
b. What is meant by Equilibrium? Describe the conditions of equilibrium. (03)
c. Define Energy. Also describe the basic kinds of energy. (03)
Q.5 a. State the Principle of Lever and find its Mechanical Advantage. (04)
b. What is Hoocke’s Law? Does an object remain elastic beyond elastic limit? Explain. (03)
C. Define the following:
0] Conduction (i) Convection (iii) Radiation (03)
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Roll No. [ B ‘ 7 lﬁr ‘ ! ] Answer Sheet No.

b

Sig. of Candidate. Sig. of Invigilator.

PHYSICS SSC-I
SECTION — A (Marks 12)

Time allowed: 20 Minutes

NOTE:- Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C /D. Each part carries one mark.

(i How many nuclear experiments were carried out by Pakistan in 1998 AD at Chaghi?
A. 5 B. 6 C. 7 D. 8
(ii) One kilometre has metres.
A. 1000 B. 2000 C. 100 D. 500
(iii) The velocity and acceleration of a body moving with uniform speed in the circular path willbe ____
A, In the same direction B. In the opposite directions
C. Mutually perpendicular D. Equal
(iv) The acceleration produced in a moving body is always in the direction of applied
A, Velocity B. Force C. Speed D. Momentum
{v) Temperature is a quantity.
A. Vector B. Scalar C. Positive D. Negative
(vi) In equilibrium state, the resuitant of all the forces and all torques on a body is
A Double B. Zero C. 3 times D. 4 times

{vil) A 2 kg object is moving in a circle with a speed of 4ms™' If the radius of the circle is 1m, what will be the

value of the centripetal force acting on the object?

A. 8N B. 16N C 32N D. 64N
(viii)  What will be power of a machine which is doing 10J work in 5 seconds?

A 2 Watt B. 10 Watt C. 25 Watt D. 50 Watt
{ix) The Mechanical Advantage of a single movable pulley is

A 1 B. 2 C. 3 D. 4
(x) At what temperature the surface tension of liquid will be maximum?

A 0°C B. 100°C C. 20°C D. 50°C
(xi}) Water contracts from _____then expands.

A 0°C to 4°C B. 3°Cto 4°C C. 2°C to 4°C D. 5°Cto 6°C
(xii) What is the cause of land and sea breeze?

A Greater specific heat of water B. Less specific heat of water

C. Low freezing point of water D High boiling point of water

For Examiner’s use only:
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PHYSICS SSC-I

Time aliowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE:- Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION - B (Marks 33)

Q.2 Answer any ELEVEN parts. The answer to each part should note exceed three to four lines.(11 x3 =33 )

(i
(i)
(iil)

{xii)

{xii)

(xiv)

(xv)

Note:

Q.3 a.

What is meant by Proportionality Constant?

A body is moving with a uniform speed. Will its velocity be uniform?

If a car moves forward with some acceleration, then in which direction the friction will act on a box lying
on the floor of the car?

Under what condition the sum of three vectors will be zero?

Define Force and its unit.

Describe the method of addition of two vectors which are in different directions.

Can a body be in equilibrium if it is revolving clockwise under the action of a single torque?
State the Law of Gravitation.

Define Power and write its units.

A ball of mass 200 g was thrown vertically upto a height of 15 m. Find the change in the
gravitational potential energy of the ball.

Define the following:

a. Effort b. Load C. Output

Explain under what conditions the objects float on water surface and get submerged in water.
What is the reason for blowing of sea breeze blow in day time and land breeze at night in the
coastal areas?

What is meant by Absolute Zero?

Write down the importance of acquiring the knowledge of science and technology in the light

of the Holy Quran.

SECTION — C {Marks 20)

Attempt any TWO questions. All questions carry equal marks. (2x10=20)
State Newton's Second Law of Mation. Also prove that F=ma. (4)
Prove the First equitation of Motion v, = v, + at . 3

A car having a mass of 1500 kg was moving with a velocity of 72 kmi".
It was stopped in 5 seconds by applying the brakes. What is its average acceleration? (3)

What is Resolution of vector? Find the x and y components of a resultant vector F which are

lying at an angle @ with x-axis. (5)
Explain the Law of Conservation of Energy. (5
State Pascal's Law. Describe its advantages in everyday life. 4)
What is meant by an Inclined plane? Find its Mechanical Advantage. (4)
State Gas laws. (2)
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